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=3 Index: 0, Unicode: SV Index: 1, Unicode: F042
Nodes: 1171, Contours: 64 Nodes: 1317, Contours: 91

o BBox: (0, 0) - (2400, 2396) BBox: (0, 0) - (2400, 2400)
"O, (o LSB: 0, RSB: 40, Width: 2440 LSB: 0, RSB: 40, Width: 2440
- Ish: 706, rsb: 737, width: 997
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Isb: 586, rsh: 659, width: 1195

Index: 2, Unicode: F043 Index: 3, Unicode: FO44
Nodes: 922, Contours: 35 Nodes: 764, Contours: 5
BBox: (0, 0) - (2400, 2400) BBox: (0, 0) - (2400, 2400)
LSB: 0, RSB: 40, Width: 2440 LSB: 0, RSB: 40, Width: 2440
Isb: 995, rsb: 1015, width: 430 Isb: 102, rsh: 159, width: 2179
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Index: 4, Unicode: F045
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Index: 5, Unicode: F046
Nodes: 879, Contours: 19 Nodes: 380, Contours: 4
BBox: (0, 0) - (2400, 2400) BBox: (0, 0) - (2400, 2400)

A LSB: 0, RSB: 40, Width: 2440 LSB: 0, RSB: 40, Width: 2440
Ish: 34, rsh: 69, width: 2337 ] | | Isb: 0, rsb: 40, width: 2400
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Index: 6, Unicode: FO47

Nodes: 769, Contours: 21

BBox: (0, 0) - (2400, 2400)
LSB: 0, RSB: 40, Width: 2440
Ish: 643, rsb: 680, width: 1117
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Index: 7, Unicode: F048
Nodes: 658, Contours: 3
BBox: (0, 0) - (2400, 2400)
LSB: 0, RSB: 40, Width: 2440
Ish: 324, rsh: 345, width: 1771

Index: 8, Unicode: FO49 Index: 9, Unicode: FO4A
Nodes: 1039, Contours: 17 Nodes: 702, Contours: 19
BBox: (0, 0) - (2400, 2400) BBox: (0, 0) - (2400, 2400)

@g@ LSB: 0, RSB: 40, Width: 2440 LSB: 0, RSB: 32, Width: 2432
A Ish: 179, rsb: 196, width: 2065

Isb: 39, rsbh: 69, width: 2324
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Index: 10, Unicode: FO4B Index: 11, Unicode: FO4C

Nodes: 742, Contours: 14 Nodes: 661, Contours: 8

BBox: (0, 0) - (2400, 2400) BBox: (0, 0) - (2400, 2400)
LSB: 0, RSB: 40, Width: 2440 LSB: 0, RSB: 40, Width: 2440
| | | Isb: 3, rsb: 142, width: 2295 | | Isb:O,rsb: 56, width: 2384
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Index: 12, Unicode: FO4D Index: 13, Unicode: FO4E
Nodes: 912, Contours: 35 Nodes: 723, Contours: 15
BBox: (0, 0) - (2400, 2400) BBox: (0, 0) - (2400, 2400)
X - N LSB: 0, RSB: 40, Width: 2440 LSB: 0, RSB: 40, Width: 2440
Ish: 123, rsb: 166, width: 2151 | Ish: 1054, rsh: 1070, width: 316
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Index: 15, Unicode: FO50
Nodes: 636, Contours: 16
BBox: (0, 0) - (2400, 2400)
LSB: 0, RSB: 40, Width: 2440
Isb: 28, rsb: 68, width: 2344
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% Index: 14, Unicode: FO4F

Nodes: 665, Contours: 10

BBox: (0, 0) - (2400, 2400)

LSB: 0, RSB: 40, Width: 2440

Ish: 788, rsh: 872, width: 780
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Index: 16, Unicode: FO51

Nodes: 499, Contours: 17
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BBox: (0, 0) - (2400, 2400) =3
Y LSB: 0, RSB: 40, Width: 2440 %‘g
Ish: 676, rsb: 747, width: 1017
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Index: 17, Unicode: FO52
Nodes: 1412, Contours: 44
BBox: (0, 0) - (2400, 2400)
LSB: 0, RSB: 40, Width: 2440
Isb: 816, rsh: 856, width: 768

Index: 18, Unicode: FO53 Index: 19, Unicode: FO54
Nodes: 526, Contours: 11 Nodes: 578, Contours: 16
BBox: (0, 0) - (2400, 2400) BBox: (0, 0) - (2400, 2400)

LSB: 0, RSB: 40, Width: 2440 LSB: 0, RSB: 40, Width: 2440
Ish: 224, rsb: 288, width: 1928 Ish: 154, rsh: 202, width: 2084
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Index: 20, Unicode: FO55
Nodes: 682, Contours: 4
BBox: (0, 0) - (2400, 2400)

LSB: 0, RSB: 40, Width: 2440
Ish: 730, rsbh: 749, width: 961
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Index: 22, Unicode: FO57

Nodes: 828, Contours: 13

BBox: (0, 0) - (2400, 2400)

LSB: 0, RSB: 40, Width: 2440

Ish: 322, rsh: 345, width: 1773
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Index: 21, Unicode: FO56
Nodes: 1516, Contours: 60
BBox: (0, 0) - (2400, 2400)
LSB: 0, RSB: 40, Width: 2440
Ish: 116, rsbh: 175, width: 2149
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Index: 23, Unicode: FO58
Nodes: 515, Contours: 28
BBox: (0, 0) - (2400, 2400)
LSB: 0, RSB: 40, Width: 2440
Isb: 495, rsh: 549, width: 1396

Index: 24, Unicode: FO59 Index: 25, Unicode: FO5A
Nodes: 528, Contours: 3 Nodes: 736, Contours: 14
BBox: (0, 0) - (2400, 2400) BBox: (0, 0) - (2400, 2400)

LSB: 0, RSB: 40, Width: 2440
Isb: 84, rsb: 508, width: 1848

LSB: 0, RSB: 40, Width: 2440

E%v Isb: 0, rsb: 40, width: 2400
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